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NEW QUESTION 1
Which two feature on the SRX Series device are common across all Junos devices? (Choose two.)

A. Stateless firewall filters
B. UTM services
C. The separation of control and forwarding planes
D. screens

Answer: AC

NEW QUESTION 2
Your company has been assigned one public IP address. You want to enable internet traffic to reach multiple servers in your DMZ that are configured with private
address.
In this scenario, which type of NAT would be used to accomplish this tasks?

A. Static NAT
B. Destination NAT
C. Source NAT
D. NAT without PAT

Answer: B

NEW QUESTION 3
Exhibit.

Which two statements are true? (Choose two.)

A. Logs for this security policy are generated.
B. Logs for this security policy are not generated.
C. Traffic static for this security policy are not generated.
D. Traffic statistics for this security policy are generated.

Answer: AD

NEW QUESTION 4
What are configuring the antispam UTM feature on an SRX Series device.
Which two actions would be performed by the SRX Series device for e-mail that is identified as spam? (Choose two.)

A. Tag the e-mail
B. Queue the e-mail
C. Block the e-mail
D. Quarantine e-mail

Answer: AC

NEW QUESTION 5
You have created a zones-based security policy that permits traffic to a specific webserver for the marketing team. Other groups in the company are not permitted
to access the webserver. When marketing users attempt to access the server they are unable to do so.
What are two reasons for this access failure? (Choose two.)

A. You failed to change the source zone to include any source zone.
B. You failed to position the policy after the policy that denies access to the webserver.
C. You failed to commit the policy change.
D. You failed to position the policy before the policy that denies access the webserver

Answer: CD

NEW QUESTION 6
Which statements is correct about global security policies?

A. Global policies allow you to regulate traffic with addresses and applications, regardless of their security zones.
B. Traffic matching global is not added to the session table.
C. Global policies eliminate the need to assign interface to security zones.
D. Global security require you to identify a source and destination zone.

Answer: A

NEW QUESTION 7
Which type of security policy protect restricted services from running on non-standard ports?
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A. Application firewall
B. IDP
C. Sky ATP
D. antivirus

Answer: B

NEW QUESTION 8
Which two statements are true about UTM on an SRX340? (Choose two.)

A. A default UTM policy is created.
B. No default profile is created.
C. No default UTM policy is created
D. A default UTM profile is created

Answer: BC

NEW QUESTION 9
Which two actions are performed on an incoming packet matching an existing session? (Choose two.)

A. Zone processing
B. Security policy evolution
C. Service ALG processing
D. Screens processing

Answer: CD

NEW QUESTION 10
A new SRX Series device has been delivered to your location. The device has the factory-default configuration loaded. You have powered on the device and
connected to the console port.
What would you use to log into the device to begin the initial configuration?

A. Root with a password of juniper’’
B. Root with no password
C. Admin with password
D. Admin with a password ‘’juniper’’

Answer: B

NEW QUESTION 10
Which statements about NAT are correct? (Choose two.)

A. When multiple NAT rules have overlapping match conditions, the rule listed first is chosen.
B. Source NAT translates the source port and destination IP address.
C. Source NAT translates the source IP address of packet.
D. When multiple NAT rules have overlapping match conditions, the most specific rule is chosen.

Answer: AC

NEW QUESTION 12
Which two statements are correct about using global-based policies over zone-based policies? (Choose two.)

A. With global-based policies, you do not need to specify a destination zone in the match criteria.
B. With global-based policies, you do not need to specify a source zone in the match criteria.
C. With global-based policies, you do not need to specify a destination address in the match criteria.
D. With global-based policies, you do not need to specify a source address in the match criteria.

Answer: AB

NEW QUESTION 16
Which statements is correct about SKY ATP?

A. Sky ATP is an open-source security solution.
B. Sky ATP is used to automatically push out changes to the AppSecure suite.
C. Sky ATP only support sending threat feeds to vSRX Series devices
D. Sky ATP is a cloud-based security threat analyzer that performs multiple tasks

Answer: D

NEW QUESTION 17
Which security object defines a source or destination IP address that is used for an employee Workstation?

A. Zone
B. Screen
C. Address book entry
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D. scheduler

Answer: C

NEW QUESTION 21
What should you configure if you want to translate private source IP address to a single public IP address?

A. Source NAT
B. Destination NAT
C. Content filtering
D. Security Director

Answer: A

NEW QUESTION 26
Your company uses SRX Series devices to secure the edge of the network. You are asked protect the company from ransom ware attacks.
Which solution will satisfy this requirement?

A. Sky ATP
B. AppSecure
C. Unified security policies
D. screens

Answer: A

NEW QUESTION 31
Which two elements are needed on an SRX Series device to set up a remote syslog server? (Choose two.)

A. Data type
B. Data throughput
C. IP address
D. Data size

Answer: AC

NEW QUESTION 34
Which management software supports metadata-based security policies that are ideal for cloud deployments?

A. Security Director
B. J-Web
C. Network Director
D. Sky Enterprise

Answer: A

NEW QUESTION 38
The Sky ATP premium or basic-Threat Feed license is needed fort which two features? (Choose two.)

A. Outbound protection
B. C&C feeds
C. Executable inspection
D. Custom feeds

Answer: BD

NEW QUESTION 40
Which two statements are true about security policy actions? (Choose two.)

A. The reject action drops the traffic and sends a message to the source device.
B. The deny action silently drop the traffic.
C. The deny action drops the traffic and sends a message to the source device.
D. The reject action silently drops the traffic.

Answer: AB

NEW QUESTION 43
Which flow module components handles processing for UTM?

A. Policy
B. Zones
C. Services
D. Screen options

Answer: C
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NEW QUESTION 47
What is the correct order of processing when configuring NAT rules and security policies?

A. Policy lookup > source NAT > static NAT > destination NAT
B. Source NAT > static NAT > destination NAT > policy lookup
C. Static NAT > destination NAT> policy lookup > source NAT
D. Destination NAT > policy lookup > source NAT > static NAT

Answer: C

NEW QUESTION 48
Which two statements are true about the null zone? (Choose two.)

A. All interface belong to the bull zone by default.
B. All traffic to the null zone is dropped.
C. All traffic to the null zone is allowed
D. The null zone is a user-defined zone

Answer: AB

NEW QUESTION 51
Which three actions would be performed on traffic traversing an IPsec VPAN? (Choose three.)

A. Port forwarding
B. Authentication
C. Encryption
D. Deep inspection
E. Payload verification

Answer: BCE

NEW QUESTION 54
You want to automatically generate the encryption and authentication keys during IPsec VPN establishment. What would be used to accomplish this task?

A. IPsec
B. Diffie_Hellman
C. Main mode
D. Aggregate mode

Answer: B

NEW QUESTION 56
......
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